24) 


If real GDP for a given year is $2400 billion and nominal GDP is $2400 

A) 


this year is the base year for the GDP deflator. 

B) 


the GDP deflator for this year is 1.25. 

C) 


the GDP deflator for this year is 0.8. 

D) 


the GDP deflator for this year is 1.10. 

Answer:  


A 

Table 2-1
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25) 


Refer to above Table 2-1. What is the level of Gross Domestic Product? 

A) 


2690 

B) 


3050 

C) 


2430 

D) 


3010 

Answer:  


B 

26) 


Refer to above Table 2-1. What is the level of National Income? 

A) 


2630 

B) 


2420 

C) 


2660 

D) 


2430 

Answer:  


D 

27) 


Refer to above Table 2-1. What is the level of Net Private Domestic Investment? 

A) 


420 

B) 


780 

C) 


380 

D) 


340 

Answer:  


A 

28) 


Refer to above Table 2-1 What is the level of Corporate Profits? 

A) 


260 

B) 


180 

C) 


270 

D) 


170 

Answer:  


C 

29) 


Refer to above Table 2-1 What is the level of Disposable Personal Income? 

A) 


2520 

B) 


1900 

C) 


2200 

D) 


2120 

Answer:  


D 

30) 


Refer to above Table 2-1. What is the level of Personal Saving? 

A) 


100 

B) 


90 

C) 


80 

D) 


130 

Answer:  


B 

31) 


Refer to above Table 2-1. What is the total amount of leakages? 

A) 


530 

B) 


1080 

C) 


970 

D) 


550 

Answer:  


B 

Figure 2-2
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32) 


Employing the data from Figure 2-2, income Y is equal to 

A) 


$3,000,000. 

B) 


$3,300,000. 

C) 


$3,600,000. 

D) 


$5,100,000. 

Answer:  


B 

50) 


In the simple circular flow model containing just households and business firms, the entire product flows to ________ in exchange for ________. 

A) 


business firms, labor services 

B) 


business firms, wages 

C) 


households, consumer expenditures 

D) 


households, labor services 

Answer:  


C 

52) 


In calculating GDP, "transfer payments" are 

A) 


included because they are re-valuations of existing wealth. 

B) 


excluded because no goods or services were produced in exchange for them. 

C) 


included because they are payments for labor services. 

D) 


excluded because used goods already counted the year they were produced. 

Answer:  


B 

55) 


A farmer sells raw milk for 50 cents to a dairy, who sells cheese made from it for $1.50 to a grocery wholesaler, who sells it for $1.90 to a supermarket, who sells it to the final consumer for $2.19. These transactions increase the GDP by 

A) 


$0.50 + $1.00 + $0.40 + $0.29 = $2.19. 

B) 


$0.50 + $1.00 + $1.90 + $2.19 = $5.59. 

C) 


$0.50 + $1.00 = $1.50. 

D) 


$2.19 - $1.50 = $0.69. 

E) 


$2.19 - $0.50 = $1.69. 

Answer:  


A 

61) 


The condition in circular-flow models whereby firms purchase all the goods not purchased by households is that 

A) 


inventory investment is zero. 

B) 


saving is zero. 

C) 


fixed investment is zero. 

D) 


consumption equals investment. 

E) 


investment equals saving. 

Answer:  


E 

78) 


(C + S + T) most closely approximates 

A) 


personal income. 

B) 


personal disposable income. 

C) 


national income. 

D) 


net national product. 

E) 


gross national product. 

Answer:  


A 

80) 


A change in nominal GDP sums up changes in 

A) 


prices alone. 

B) 


physical production alone. 

C) 


physical production and hours of production time. 

D) 


physical production and prices. 

Answer:  


D 

81) 


A change in real GDP sums up changes in 

A) 


prices alone. 

B) 


physical production alone. 

C) 


physical production minus changes in price. 

D) 


physical production and prices. 

Answer:  


B 

Table 2-2
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83) 


Refer to above Table 2-2. What is the nominal GDP in year 2? 

A) 


$18.60 

B) 


$14.60 

C) 


$18.00 

D) 


400 units 

Answer:  


A 

84) 


Refer to above Table 2-2. What are the constant-dollar expenditures in years 1 and 2 at fixed year 1 prices? 

A) 


$5.00, $7.80 

B) 


$14.00, $14.60 

C) 


$18.00, $18.60 

D) 


$9.00, $10.80 

Answer:  


B 

85) 


Refer to above Table 2-2. What are the constant-dollar expenditures in years 1 and 2 at fixed year 2 prices? 

A) 


$14.00, $14.60 

B) 


$7.90, $13.50 

C) 


$18.00, $18.60 

D) 


$12.80, $19.80 

Answer:  


C 

86) 


Refer to above Table 2-2. What is the increase in real GDP between years 1 and 2 at fixed year 1 prices? 

A) 


4.3% 

B) 


3.3% 

C) 


2.5% 

D) 


1.9% 

Answer:  


A 

87) 


Refer to above Table 2-2. What is the increase in real GDP between years 1 and 2 at fixed year 2 prices? 

A) 


2.1% 

B) 


5.1% 

C) 


4.4% 

D) 


3.3% 

Answer:  


D 

88) 


Refer to above Table 2-2. Choosing the prices of year 2 gives a ________ increase in real GDP because year 2 prices place a ________ valuation on quantities that have increased ________ rapidly. 

A) 


lower, higher, least 

B) 


higher, lower, most 

C) 


higher, higher, least 

D) 


lower, lower, most 

Answer:  


D 

89) 


Refer to above Table 2-2. The geometric average of the increase in real GDP between year 1 and year 2 is 

A) 


3.1% 

B) 


3.2% 

C) 


3.3% 

D) 


3.8% 

Answer:  


D 

90) 


Refer to above Table 2-2. The chain-weighted real GDP for year 2 is 

A) 


$14.53 

B) 


$14.49 

C) 


$14.44 

D) 


$16.61 

Answer:  


A 

91) 


Refer to above Table 2-2. The implicit GDP deflator for year 2 is 

A) 


1.284 

B) 


1.432 

C) 


1.101 

D) 


1.334 

Answer:  


A 

92) 


Refer to above Table 2-2. The chain-weighted GDP deflator for year 2 is 

A) 


1.313 

B) 


1.211 

C) 


1.324 

D) 


1.280 

Answer:  


D 

93) 


If chain-weighted increases in real GDP for 2002-03, 2003-04, 2004-05, 2005-06, and 2006-07 are 5%, 4%, 2%, 1%, and 3% respectively, and nominal GDP in the 2002 base year is $6244.4 billion, then chain-weighted real GDP for 2007 is 

A) 


$6987.02 billion 

B) 


$7,181.06 billion 

C) 


$7235.6 billion 

D) 


$7239.0 billion 

Answer:  


C 

95) 


A survey of 200,000 people finds 76,300 "employed," 6,640 "unemployed," and the remaining 117,060 "not in the labor force." What is the unemployment rate derived from these numbers? 

A) 


8.7 percent 

B) 


3.3 percent 

C) 


8.0 percent 

D) 


5.7 percent 

Answer:  


C 

96) 


When real GDP is below natural real GDP, the unemployment rate is 

A) 


rising. 

B) 


above the average unemployment rate. 

C) 


falling. 

D) 


below the average unemployment rate. 

Answer:  


A 

100) 


Suppose the Bureau of Labor Statistics interviews 194,000 people in its monthly survey: 91,300 are not in the labor force, 94,000 are employed, 6650 are unemployed, and 1,150 are in the armed forces. What is the unemployment rate the BLS announces? 

A) 


4.95 percent 

B) 


3.94 percent 

C) 


7.0 percent 

D) 


6.55 percent 

E) 


6.48 percent 

Answer:  


D 

101) 


Suppose the Bureau of Labor Statistics interviews 196,700 people in its monthly survey; 94,500 are not in the labor force, 91,150 are employed, 8,870 are unemployed, and 2,180 are in the armed forces. What is the unemployment rate the BLS announces. 

A) 


8.87 percent 

B) 


9.73 percent 

C) 


9.39 percent 

D) 


4.51 percent 

E) 


10.81 percent 

Answer:  


A 

6) 


If total planned spending (E(p)) exceeds GDP, we expect that 

A) 


inventories will be falling. 

B) 


inventories will be rising. 

C) 


GDP will be falling. 

D) 


government expenditures must be rising. 

Answer:  


A 

Figure 3-1
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7) 


Employing Figure above, autonomous consumption expenditures are ________, and the marginal propensity to consume is ________. 

A) 


200; 0.75 

B) 


500; 1 

C) 


200; 0.60 

D) 


0; 1 

Answer:  


C 

8) 


As used in this text, "autonomous" variables are 

A) 


spontaneous variables that are completely unpredictable. 

B) 


completely independent of income, although they can be explained by movements in other variables. 

C) 


determined only by income levels. 

D) 


the same as endogenous variables. 

Answer:  


B 

9) 


The multiplier measures the 

A) 


number of steps it takes to move from one equilibrium to another. 

B) 


rise in saving resulting from a rise in income. 

C) 


marginal propensity to invest. 

D) 


rise in equilibrium GDP resulting from a one dollar rise in planned autonomous expenditures. 

Answer:  


D 

10) 


Assuming that there are NO income taxes, if both autonomous taxes, and government expenditures were to rise by $100 million, we would expect equilibrium GDP to 

A) 


rise by $100 million. 

B) 


rise, but by a multiple of $100 million. 

C) 


rise by less than $100 million. 

D) 


remain unaffected because leakages have changed by the same amount. 

Answer:  


A 

11) 


The size of the multiplier depends in part on the 

A) 


level of autonomous expenditures. 

B) 


change in autonomous consumption. 

C) 


level of consumption. 

D) 


marginal propensity to consume. 

Answer:  


D 

12) 


If disposable income increases by $100 and consumption increased by $85, ceteris paribus, we may conclude that 

A) 


the marginal propensity to consume is 0.85. 

B) 


the marginal propensity to consume is 0.15. 

C) 


$15 is autonomous consumption. 

D) 


a change in disposable income is induced by a change in consumption. 

Answer:  


A 

13) 


If disposable income increases by $100 and saving increased by $25, ceteris paribus, we may conclude that 

A) 


the marginal propensity to consume is 0.25. 

B) 


the marginal propensity to save is 0.25. 

C) 


$15 is autonomous consumption. 

D) 


a change in disposable income is induced by a change in consumption. 

Answer:  


B 

16) 


An increase in autonomous taxes 

A) 


increases autonomous planned spending by an equal amount. 

B) 


decreases autonomous planned spending by an equal amount. 

C) 


increases consumption by that amount times the marginal propensity to consume. 

D) 


decreases saving by that amount times the marginal propensity to save. 

Answer:  


D 

17) 


An exogenous rise in government expenditures will have the same effect on GDP as an equal rise in either autonomous ________ or autonomous ________. 

A) 


consumption; investment 

B) 


taxes; consumption 

C) 


savings; investment 

D) 


taxes; investment 

Answer:  


A 

18) 


A fall in the government's budget deficit will lower 

A) 


equilibrium GDP and consumption. 

B) 


consumption and saving. 

C) 


saving and GDP. 

D) 


All of the above are correct. 

Answer:  


D 

Figure 3-2
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21) 


Employing the information in the figure above, when real disposable income is 1000, savings from households would be ________ and the marginal propensity to save would be ________. 

A) 


300; 0.1 

B) 


100; 0.2 

C) 


100; 0.1 

D) 


500; 0.2 

Answer:  


B 

Assume that the level of autonomous consumption in an economy equals 400, the level of planned investment = 200, G = 0, T = 0, NX = 0, and the marginal propensity to consume is 0.6. 

22) 


Refer to the information above. What is the level of consumption when the level of income equals 2000? 

A) 


600 

B) 


1000 

C) 


1600 

D) 


2000 

23) 


Refer to the information above. What is the equilibrium level of GDP? 

A) 


600 

B) 


1000 

C) 


1500 

D) 


1800 

24) 


Refer to the information above. If the level of production in the economy equals 3000, the amount of saving equals ________ and the level of unintended inventory investment equals ________. 

A) 


200; 200 

B) 


200; -200 

C) 


1200; 600 

D) 


1200; -600 

Answer:  


C 

29) 


Assume that the economy is initially at its equilibrium level of GDP. What will happen to the equilibrium level of GDP if planned investment decreases by 20, government spending increases by 30, and taxes increase by 10? 

A) 


GDP will decrease by 60 

B) 


GDP will decrease by 10 

C) 


there will be no change in GDP 

D) 


GDP will increase by 10 

Answer:  


D 

37) 


A 45 degree line on a graph with expenditures, E, on the vertical axis and production, Y, on the horizontal axis, represents 

A) 


the line of disequilibrium levels of income. 

B) 


all possible equilibrium levels of production and expenditures. 

C) 


some of the equilibrium levels of production and expenditures. 

D) 


None of the above. 

Answer:  


B 

38) 


If planned autonomous investment is 500, autonomous consumption 300, induced consumption 2500, savings 500, and government spending and taxes zero, then 

A) 


Ep is 3300 and the economy is in equilibrium. 

B) 


Ep is 3300 and the economy is out of equilibrium. 

C) 


Ep is 3500 and the economy is in equilibrium. 

D) 


Ep is 3500 and the economy is out of equilibrium. 

Answer:  


C 

39) 


If Ep is 3500 and Y is 3000 then 

A) 


planned inventory accumulation is 500. 

B) 


planned inventory depletion is 500. 

C) 


unplanned inventory accumulation is 500. 

D) 


unplanned inventory depletion is 500. 

Answer:  


D 

40) 


If Ep is 3500 and Y is 3000 then companies will 

A) 


reduce orders and production by 500. 

B) 


increase orders and production by 500. 

C) 


wait for final sales to increase but continue to produce at existing level in the future. 

D) 


wait for final sales to decrease but reduce the level of production in the future. 

Answer:  


B 

41) 


If Ep is 2500 and Y is 3000 then 

A) 


planned inventory accumulation is 500. 

B) 


planned inventory depletion is 500. 

C) 


unplanned inventory accumulation is 500. 

D) 


unplanned inventory decumulation is 500. 

Answer:  


D 

42) 


If Ep is 2500 and Y is 3000 then companies will 

A) 


reduce orders and production by 500. 

B) 


increase orders and production by 500. 

C) 


wait for final sales to increase. 

D) 


wait for final sales to decrease. 

Answer:  


A 

